98 73 20056 1 1
[ ] [
E
30 50 100 300
4 P 5000/ 5000 - - 0.6 0.6 1 1 2 2 6 6 - -
4 >< - - - - - - - - - - - -
5 P BPT 7500] 15000| 2200] 11000)0.1-15 0.1-15 0 2 0 2 0 4 0 4 0 8 0 8 0 20 0 20 0-90 0-90
6 > BPT 3300] 6300f 3300{ 5200{0.5-1.6 0.5-1.6 005 6 0.05 6 0.09-10 0.09-10 0.2-20 0.2-20 0.8-50 0.8-50 0.4-90 0.4-90
6 >< - - - - - - - - - - - -
8 > BPT 13000] 17000 394 14000{0.02-1.1 0.02-1.1 0-1 0-1 0-2 0-2 0-3 0-3 0-10 0-10 0-70 0-70
9 =< 3000/ 6000 - - 05-1 0.5-1 0.8-2 0.8-2 2-3 2-3 5-10 5-10 - -
10 1766 - - - - - - - - - - - -
10 1766 - - - - - - - - - - - -
11 > - - - - - - - - - - - -
13 P BPT 16000| 26000/ 4500 4500(0.2-0.3 0.2-0.3 0 0 0 0 0 0 0 0 0 0
7 ) I I E 2000] 4000 - - 08-2 1-3 - - [
18 P BPT 3000/ 3000 205( 6000{0.07 2.0 0.07 20 0-7 0-7 0-10 0-10 0-20 0-20 0-50 0-50 0-90 0-90
20 - > 3000{ 3000 - - 1 1 2 2 3 3 10 10 - -
25 P BPT 3000/ 18000 305| 6600)0.02-2.2 0.02-2.2 0-7 0-7 0-10 0-10 0-20 0-20 0-50 0-50 0-90 0-90
26 > BPT 7500 7500 905/ 6500/0.1 -09 10.1 -09 |0-1 0-1 0-2 0-2 0-3 0-3 0-10 0-10 0-30 0-30
27 =< BPT 1200 3700 0 805(0.7 0.7 2 2 4 4 9 9 40 40 6 6
28
29 > - - - - - - - - - - - -
30 > BPT 2600 4100 305 705/0.07-0.3 0.07-0.3 0 0 0 0 0 0 0-0.003 0-0.003 0 0
32 >
32 =< - - - - - - - - - - - -
33 =< - - - - - - - - - - - -
34 P BPT 10000/ 15000/ 13000{ 20000{0.9-2.0 0.9-2.0 05-2 0.5-2 0.8-4 0.8-4 2-7 2-7 5-20 5-20 30-90 30-90
35 > BPT 4000| 6000 305/ 1605/0.05-0.4 0.05-0.4 0-0.002 0-0.002 0-0.004 0 0.005 0-0.01 0-0.01 0-0.1 0-0.1 0-0.006 0-0.006 2005
P BPT 3000/ 3000/ 3000[ 3000 3.6 6.0 12
37 > BPT 1900f 4900] 1305| 1505|0.3-0.8 0.3-0.8 0-3 0-3 0-5 0-5 0-10 0-10 0-30 0-30 0-20 0-20
37 P BPT 1600] 1900| 1905| 2300)1.0-14 1.0-14 6-11 6-11 9-20 10-20 20-30 20-30 50-70 50-70 50-90 60-90 2005
37 =< 22000] 26000 - - - - - - - - - - - -
1847 BPT 800 2500 158 158)0.1-0.2 0 0 0
> BPT 1000f 1000] 1205| 1205 14 14 23
Y N R - - - - .
> BPT 1500{ 1900] 1005| 2100 0.2-11 0.2-11 0.37-18 0.94-33
44 - =< - - - - - - - - - - - -
45 > BPT 6400( 9100 705 800{0.08-0.1 0.08-0.1 0 0 0 0 0 0 0 0 0 0
45 =< BPT 4500| 24000] 3800 6500{0.2-1.4 0.2-14 0-4 0-4 0-7 0-7 0-10 0-10 0-30 0-30 0-90 0-90
45 > - - - - - - - - - - - -
47 1858 BPT 2300 2700 147 147]0.05-0.06 0.05-0.06 0 0 0 0 0 0 0 0 0 0
48 > BPT 3600] 4300 305/ 4700{0.07-1.3 0.07-13 0-5 0-5 0-7 0-7 0-10 0-10 0-40 0-40 0-90 0-90
48 =< 4000] 4000 - - 0.7 0.7 1 1 2 2 7 7 - -
48 =< - - - - - - - - - - - -
50 =< BPT 3600| 6900 405 1005/0.06-0.3 0.06-0.3 0 0 0 0 0 0 0 0 0 0
51 > BPT 3000 12000 305/ 6500{0.03-2.2 0.03-2.2 0-7 0-7 0-10 0-10 0-20 0-20 0-50 0-50 0-90 0-90
T I ) I BPT 4000[ 20000[ 7500 28000/0.3-2 [0#=2 T 0-6 0-6 0-10 0-10 0-20 0-20 0-50 0-00 |
52 > BPT 1800f 2500] 3000] 3400|1.2-1.9 1.2-1.9 6-11 6-11 10-20 10-20 20-30 20-30 50-70 50-70 80-90 80-90
52 1586 BPT 1700{ 1700 419 419(0.2 0.2 0 0 0 0 0 0 0.02 0.02 0 0
52 > - - - - - - - - - - - -
52 =< - - - - - - - - - - -
53 54 > 4000| 12000 - - 0.2-0.7 0.2-0.7 04-1 04-1 0.8-2 0.8-2 2-7 2-7 - -
53 54 =< - - - - - - - - - - - -
53 54 > BPT 7200 14000| 5400/ 7600/0.4-1.1 04-11 0-2 0-2 0.001-3 0.001-3 0.001-6 0.001-6 0.005-20 0.005-20 0.003-60 0.003-60
53 54 > BPT 40000 40000( 14000| 14000)0.4 04 0 0 0 0 0 0 0 0 0 0
53 54 > 30000( 30000 - - 0.1 0.1 0.2 0.2 0.3 03 1 1 - -
56 =< BPT 5000{ 12000] 2700| 6900]/0.2-1.4** 0.2-1.4** 0-3** 0-3** 0-6** 0-6** 0-10** 0-10** 0-30** 0-30** 0-90** 0-90**
56 P BPT 3000/ 7000/ 3700 4300({0.5-14 05-14 0.05-6 0.05-6 0.09-10 0.09-10 0.2-20 0.2-20 0.7-50 0.7-50 0.5-90 0.5-90
56 > 3000{ 5000 - - 0.6-1 0.6-1 1-2 1-2 2-3 2-3 6-10 6-10 - -
57 P BPT 2000] 2000 205[ 2005(0.1-1.0 0.1-1.0 0-5 0-5 0-9 0-9 0-20 0-20 0-50 0-50 0-50 0-60 2005
58 =< 7000{ 18000 - - 0.2-0.4** 0.2-0.4** 0.3-0.7** 0.3-0.7** 0.6-1** 0.6-1** 2-4** 2-4** - -
58 1948 30 - - - - - - - - - - - -
59 > - - - - - - - - - - - -
61 62 > BPT 2300| 2700 305 405/0.1-0.2 0.1-0.2 0 0 0 0 0 0 0 0 0 0
61 62 > 7000| 7200]- - - - - - - - - - - -
61 62 < 505| 4900|- - - - - - - - - - - -
61 62 P - - - - - - - - - - - -
63 > BPT 5600 7600 305 605/0.04-0.1** 0.04-0.1** 0 0 0 0 0 0 0 0 0 0
63 > - - - - - - - - - - - -
64 > BPT 3000] 4000 605| 1005(0.2-0.3 0.2-0.3 0 0 0 0 0 0 0-0.02 0-0.03 0 0 2005
64 P BPT 7000] 7000 305 605/0.04-0.09 0.04-0.09 0 0 0 0 0 0 0 0 0 0
65 > BPT 1900{ 4500] 2400] 2800|0.5-15 0.5-15 0.09-9 0.09-9 0.2-20 0.2-20 0.3-30 0.3-30 2-60 2-60 0.5-90 0.5-90
66 - > - - - - - - - - - - - -
> BPT 1400 1900 405 805[0.2-0.6 0.2-0.6 0-0.6 0 0 0 0 0 0-1 0-1
=< 6000 6000 - - 0.50 . .
69 > 18000] 36000 - - 0.08-0.2 0.08-0.2 0.1-0.3 0.1-0.3 0.3-0.6 0.3-0.6 0.8-2 0.8-2 - -
70 =< BPT 10000] 10000] 1305( 10000f1 1 1 1 2 2 4 4 10 10 50 50
71 > BPT 17000] 17000 405 28000{0.02-1.6 0.02-1.6 0-1 0-1 0-2 0-2 0-4 0-4 0-10 0-10 0-90 0-90
71 P BPT 25000/ 25000/ 11000{ 11000(0.4 0.4 0.001 0.001 0.002 0.002 0.005 0.005 0.02 0.02 0.03 0.03
72 1854 BPT 4000] 25000 151 151/0.006-0.04 0.006-0.04 0 0 0 0 0 0 0 0 0 0




30 50 100 300
73 1662 BPT 3800] 6300 343 343(0.05-0.08 0.05 0.09 0 0 0 0 0 0 0 0 0 0
73 =< 305 605|- - - - - - - - - - - -
73 =< BPT 4200] 6500 1405 2800(0.2-0.7 0.2-0.7 0-0.6 0-0.6 0-1 0-1 0-2 0-2 0-7 0-7 0-6 0-6
74 =< 3300f 3300(- - - - - - - - - - - -
74 1927 BPT 10000] 15000 78 78/0.005-0.008 |0.005-0.008 |0 0 0 0 0 0 0 0 0 0
75 >< BPT 5000] 5000] 1205| 11000)0.2-2.2 0.2-22 0-5 0-5 0-7 0-7 0-10 0-10 0-40 0-40 0-90 0-90
76 1596 BPT 1000] 2000 409 409(0.2-04 0.2-04 0-0.02 0-0.02 0-0.04 0 0.05 0-02 0 03 0-9 0-9 0-0.007 0-0.008
7 < BPT 3000 6000 1005/ 1605[0.2-0.5 0.2-05 0-0.1 0-0.1 0-02 0-0.2 0-06 0-0.6 0-3 0-3 0-05 0-05
80 =< BPT 8000 8000 9000{ 28000{1.1-2 11-2 2-3 2-3 3-5 3-5 6-10 6-10 20-30 20-30 70-90 70-90
81 >< BPT 2000| 12000| 1605| 2005/0.1-1.0 0.1-1.0 0-5 0-5 0-9 0-9 0-20 0-20 0-50 0-50 0-50 0 60 2005
82 =< 30000| 40000 - - 0.07-0.1 0.07-0.1 01-02 0.1-02 0.2-0.3 0.2-0.3 0.7-1 0.7-1
82 868 BPT 1800] 2300] 1137] 1137)|0.5-0.6 0.5-0.6 0.06-0.8 0.08-1 01-1 0.2-2 0.3-3 0.4-4 2-20 3-20 0.1-2 0.2-3
82 >< BPT 3000 3000 1405/ 3600(0.5-12 0.5-12 0.03-5 0.03-5 0.06-8 0.06-8 0.1-20 0.1-20 1-40 1-40 0.08-80 0.08-80
82 =< BPT 5000] 5000 805 1605[0.2-0.3 0.2-0.3 0 0 0 0 0 0 0-0.002 0-0.002 0 0
83 >< BPT 4000 6000 2605/ 3100(0.4-0.8 0.4-0.8 0.005-1 0.005-1 0.009-2 0.009-2 0.02-4 0.02-4 0.1-10 0.1-10 0.02-20 0.02-20
84 =< BPT 30000] 30000 405 1205(0.01-0.04 0.01-0.04 0 0 0 0 0 0 0 0 0 0
85 >< BPT 1000| 1600 405 505/0.3-0.5 0.3-05 0-03 0-0.3 0-05 0-0.6 0-2 0-2 0.03-20 0.03-20 0-0.2 0-0.3 2005
86 >< BPT 1000] 2500 405 505|0.2-0.5 0.2-05 0-03 0-0.3 0-05 0-0.6 0-2 0-2 0-20 0-20 0-02 0-0.3 2005
87 =< 805 1405|- - - - - - - - - - - -
87 =< 23000] 23000]- - - - - - - - - - - -
88 =< BPT 9000| 18000] 10000| 11000)|0.6-12 0.6-12 0.03-2 0.03-2 0.05-3 0.05-3 0.1-6 0.1-6 0.4-20 0.4-20 0.9-80 0.9-80
89 >< BPT 1000] 2900 405 505/0.1-0.5 0.1-05 0-03 0-0.3 0-05 0-0.6 0-2 0-2 0-20 0-20 0-02 0-0.3 2005
90 =< 2100] 8500|- - - - - - - - - - - -
91 =< 2005] 12000)- - - - - - - - - - - -
93 =< BPT 11000] 27000] 1205] 1505|0.05-0.1 0.05-0.1 0 0 0 0 0 0 0 0 0 0
93 >< BPT 3500/ 11000 2200 7500(0.2-2.1 0.2-21 0-6 0-6 0-10 0-10 0-20 0-20 0-50 0-50 0-90 0-90
93 =< BPT 7000| 14000] 7500/ 8000|0.5-1.1 0.5-11 0.03-2 0.03-2 0.05-3 0.05-3 0.1-7 0.1-7 0.3-20 0.3-20 0.5-80 0.5-80
93 > 2200] 7500|- - - - - - - - - - - -
93 =< 2200] 7500|- - - - - - - - - - - -
93 > 1305] 7500)- - - - - - - - - - - -
94 679 BPT 14000] 14000| 1326] 1326|0.1 0.1 0 0 0 0 0 0 0 0 0 0
96 >< BPT 8000] 8000 2400 7300(0.3-0.9 0.3-0.9 0-1 0-1 0-2 0-2 0-4 0-4 0-10 0-10 0-40 0-40
97 =< BPT 10000] 15000 505| 1005/0.03-0.1 0.03-0.1 0 0 0 0 0 0 0 0 0 0
97 >< BPT 5000| 10000] 1505| 2005|0.2-0.4 0.2-04 0-0.002 0-0.002 0-0.003 0-0.003 0-0.008 0-0.008 0-0.06 0-0.06 0-0.006 0-0.006
97 =< BPT 8000] 8000 5000{ 6500{0.6-0.8 0.6-0.8 0.2-0.8 0.2-0.8 03-1 0.3-1 0.7-3 0.7-3 2-8 2-8 3-20 3-20




